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SUBSTITUTION NO CALCULATOR 1
MULTIPLE VARIABLES Ref: G21 2.3 F
Al Ifa=3and b=28 A2 Ifa=10and b =4 A3 Ifa=8and b=12 A4 Ifa=5andb=6
Find the value of Find the value of Find the value of Find the value of
a+b a—b b—a at+b+3
Bl Ifa=7and b=2 B2 Ifa=2and b=5 B3 Ifa=15and b=3 B4 Ifa=9and b=3

Find the value of

Find the value of

Find the value of

Find the value of

ab 4ab a a+b
b a-—>b
Cl Ifa=4andb=7 C2 Ifa=6and b=5 C3 Ifa=5andb=1 C4 Ifa=9and b=2
Find the value of Find the value of Find the value of Find the value of
2a+b a+2b 3a+2b 2a - 3b
D1 Ifa=8and b=3 D2 Ifa=5and b=3 D3 Ifa=2and b =28 D4 Ifa=7and b=5
Find the value of Find the value of Find the value of Find the value of
2(a+b) (a—b)a+b) (a+b)—(b—a) (a+3)(b-5)
El Ifa=4and b=9 E2 Ifa=2and b=5 E3 Ifa=6and b=3 E4 Ifa=3and b=2

Find the value of

a+b

Find the value of

(a+b)

Find the value of

a’+b

Find the value of

272
ab
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Ref: (]212.3 F 1

Al Ifa=3and b =38
Find the value of

A2

Ifa=10and b =4
Find the value of

A3

Ifa=8and b=12
Find the value of

A4 Ifa=5andb=6
Find the value of

a+b a—b b—a at+b+3
3+4=7 10-H=6 12-8=1 5+6+3=1HU
Bl Ifa=7and b=2 B2 Ifa=2andb=5 B3 Ifa=15and b=3 B4 Ifa=9and b=3

Find the value of

Find the value of

Find the value of

Find the value of

ab 4ab a 1_5_5 a+b 9+3_g_2
7%2=14 lx2x5=U0 b 3 a=b  9-3 6
Cl Ifa=4andb=7 C2 Ifa=6and b=5 C3 Ifa=5andb=1 C4 Ifa=9and b=2
Find the value of Find the value of Find the value of Find the value of
2a+b a+2b 3a+2b 2a - 3b
2xU4+7=15 6+2x5=16 3x5+2x1=17 2x9-3x2=12
D1 Ifa=8and b=3 D2 Ifa=5and b=3 D3 Ifa=2and b =28 D4 Ifa=7and b=5
Find the value of Find the value of Find the value of Find the value of
2(a+b) (a—b)a+b) (a+b)—(b—a) (a+3)(b-5)
2%x(8+3)=22 (5-3)x(5+3)=16 (2+8)-(8-2)=} (7+3)x(5-5)=0
El Ifa=4and b=9 E2 Ifa=2and b=5 E3 Ifa=6and b=3 E4 Ifa=3and b=2
Find the value of Find the value of Find the value of Find the value of
@ +b (a+b) a+b a’b’
42 +9=25 (2+5)* =19 6% +3* =U5 3*x22=9x =88
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